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Ro. of Quegtions /vt Wk dwm ; 100

Thawe /W9 : 23, Houre /W Full Mari/qwts : 300

l-hn’lz-: (1)

This question booklet containg 100 questions in al] (30 in Section—A and 70
hmj.&t&mptummmumm.mﬁmuﬁmﬂmﬂ
Imuh:ﬂumuk-mhedeductudfmuchinm:nm.hnmmﬂ
be awarded for each unattempted question.

W v g g g a0 v f (wa—x 30 ¥ wm—u # 70)1 AR
ﬂdmmﬁwmﬁ:ﬂ:mah-whsﬁmmwthn
hmmlﬁmmwmvﬁm

ﬁﬁh“mmmihﬂﬂ.ﬂmwmil
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(135

Section—A

What will come at blank space?

DER, DEF2, DE2F2, , D2E2F3

(1) DEF3 _ {2) D3EF3 (3} D2E3F {4) D2E2F2
fos T WP § @ w0 amEn?

im Biw2 022 B 2§27% 3

() ffiw3 @ t3fw3 @A C2{3 4 B2i2ws2
Work 1 Motive : :

(1) Body : Mind (2) Wall : Puint 3 Body : Food (4) Petrol : Car
wd o Wl

() ®R | (2) dmm M (3) Wit . Ar (4) W : R
Which word does not belong with the others? .

(1} Cornea (2] Retina (3) Pupil {4) Vision
o f @ Wa-m e w3 @ watRe A k7

{1) =Hm (2) W (3) =it (4] frm

Pointing towards a person, a man said to a woman, " Hia mopther is the only daughter of
your father”. How is the woman related to that permons?

m Sister {2) Daughter (3) Mother %) Wife

wﬂﬁ#rﬁmu&umwmwﬁm%mt. el o TR P @ vl oo
#*1 ay ufken 3 =i & firm yen @ g A7

(1) WA 2 ¢ 3 = (4) woh
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Which of the following will replace the ‘?' mark?
Bt > feg & o w v R wem?
| 589654237, 89654237, 8965423, 9065423, 7
1} 58965 ) 65423 (3) B9GS54 (4} 96542
The National Council of Educational Research and Training (NCERT) was established
by the Government of India in the year
(1) 1951 (2) 1961 (3) 1971 . (%) 1981
i R e v afen vhow, (Sedflefommedle) IR WK WWR ZH1 W
() 1951 g (2 961 AP (3 1971 A d 4 1981 % g W

CIET standa for
{1} Central Institute of Effective Tochnology

(3 Centrul Institute of Education and Teaching

(3) Central Institute of Educatians] Technology
(4 Central Institute of Education & Training
WDoamcfote w afoma & '
(1} AW FoRagE s Wik Jvmid
() ¥m vk s oghw o M
(3) I3 . FROR A Twe v
(4) 7w rRar A W v

Whichmend’thefnllnwingciﬂuhnatmhtedmk_tﬁ?

(1) Ajmer - (2) Bhopal (3) Mywore (4) Raipur
Py & 4 v o aeamiofe 3 wFRn T &1 _
() wlx @ W (3) %@ | ) g

| 3
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9.

11.

(1385)

Open Baaic Education Prograznmes (OBEP) is for

(1) children below 14 ycars of age

(2) adults above 14 years of age

{3) children below 14 years of age and aduits above 14 yearn of age
{4) None of the above

Ts i i 4 e

(1) 14 o @ v & ==t 3 BN

(2] 14 = A aftes & e & R

(3 14 wf & wa & wall & ford ui 14 Wi A AR % vt % AR

4) 0w & 3 = 9@

Who is the present Chairman of UGC ?

{l) Prof. Ved Prakash (2) Prof. H. F. Gautam
(3) Prof. H. Devraj (4} Prof. Y. C. Simhadri
milnﬂnlﬁu*mﬂq‘!? |

(1) %o ¥7 w0 ' (2) Wo whe do
i3) ‘We Ly L) m (4) o H}in dlo m

Sarva Shiknha Abhiyan (SSA) programme was pioneered by

(1) Mr. Atal Bihari Vajpayee (2) Smt. Indita Gandhi
{3) Mr. Chandrashekhar (4] Mr, V. P. Singh
wifom wRPm wriiws & aman & |

(1) ot sea figd) TR (2} st xfR2u

(3) A wzeen {4 # Bo do fix
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12. Central Institute of Indian Languam‘ilu‘t;.utnd'at
{1) New Delhi {2} Varmnasi (3) Mywore ‘{4} Pune
v am deam o
A1) = fgh & (2) Twomh F tél L (4) T 4

13. RCI became a Statutory Body in
{1) 1986 {2) 1992 {3] 1993. 4) 1996
Mmoo mmfo ww tafrw aen o

(1) 1986 & 2) 1992 & (3) 1993 # [4) 1996 &

- 14, On which date NCTE was conferred the status of Statutory Body?P
{1) 15th August, 1995 (2) 17th August, 1995
(3) 18th August, 1995 (4) 20th August, 1995
fon witer = TodleRofe W Awifiw wew w7
{1) 15 sma, 1995 @ 17 s, 1995

{3) 18 wmm, 1995 , (4) 20 arrE, 1995

15. National Inatitute of Mental Health and Neuro Scionces is situated at

{1) Lucknow {2} ' Bhopal (3) Bengaluru {4) Delhi
e yaiege wis i Y o o e faw

R I LR (3) W § ) S

{198 | 5



14U/95/3 Set No. 3

- 16.

17.

18,

(138)

A teacher will become accountable to his duty, if he/she is given

(1) freedom in the selection of subject-matter and methods of teaching
{2) training in teaching

(3} more gpportunities for hjgimr studies

(4) higher salary

% s A v % 3 el om AR =

(1) fremg w e At % 9 6 = 9 I

(2) frgw & wRmw R am '

(@) T FvaE ¥ ol e Rm oW

(4) i dm R o

The Montessori Schoeole insist on

{1} creative teaching (2) the principle of sense training
(3) complcte diacipline (4) equipped achool buildings
el oo @ A W= §

(1) g fimw (2) ¥Ra wiimm ¥ frm w

{3) T I W , (4) W= W fuem W W

If you want to ask a question in your class to evaluate the knowledge of your studenis,
the best method will be to

(1) ask more than one guestion at a time

(2} esk lengthy questions

{3) ask queation from a particular student

(4] put question to the whole class and then select a student to angwer it



19.

(138)
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g r-cag gL e B R E R R R it Rl R R S A

oy fafr Wt

{1] & T ¥ w R A g

(@) W& vA e

{3) o fafle o & ¥@ [N :

@) T @ ¥ W TE W O T W W WA W I A e

A teacher will become pood communicator if she/he has ability of

(1) speaking @ listening

(3) uaing the language (4) the use of humor in speech
™ R T GO W Wen Il Iek T '

(1} W A dwm R (2) g9 @ Wwm @

{3) v % wEm ) drm R [JlmnﬂﬁﬁMﬂ

wﬁchnneisthclmtruqllhgdmuﬁtyo{ntucht?
{1} Love, cooperation and encouragement

{2} Reading of textbook in the classroom

{3) Individualived help to needy students

{4) Open clasarcom discussion

mm%ﬁinﬁwnﬁuﬁwwt?
{1) S, T @ IR WWE R

(2) ww # TR TF

o woww wi ¥ Wive TR TR B

. g S wfe

r.T0)
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ai.

{135}

The most important function of a teacher is to

(1) make students understand what -he BAYS

(2] keep students relaxed during his class

{3| complete the course

(4) take classes regularly

e W PR Teeel wi } oA

{1) st wai = ot W T @ 2) w1 % H\ et w TN @

(3) T ¥ R (4) ffim wan A

If a parent refuscs to give permission for his child to participate in cultural activitics,
what will you do? S

(1) lwi]]rcfcrthcma.ttcrtutheﬁ'int:ipal

(2) T will discuss the educational purposc of the culturai activities with the parent
(3) 1 will ask another tcacher to convince the parent '
{4) 1 will cancel the cultural program -
wﬁmﬂﬁhmmiﬁﬂﬂhfﬂwmimiﬁﬂwmimt,?ﬁmmﬁﬁ?
(1) # @ @ % g w afardn

(2} ﬂ'aﬁmtmmwmtanmmwm
taiﬁﬁm?ﬁmﬂmﬂm#ﬁim
[4}ﬂmmﬁﬂmm§n.

To maintain interest among students in class, a teacher should

(1) use blackboard {2 aakquuﬁnnlnnd discuas
{3 te:l_l atories (4) use all of the above
wﬁhﬁﬂt&ﬂrr&mﬁamﬁ

(1) wEg 1 I wen wfid (2) & gen Tfd

B =t g wfil (4) F0% ol F T w AR
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24, Stuéimtuwhuukquutiu:;:inthedauuhuuldht
(1) advised to meet the teacher after the class
{3} encouraged to participate in the discussion in the class
(3] encouraged.to continue asking questions
(4) encouraged to scarch answers independently
LR LR R R R
(1} wgrwey fiel = gy i amn o
(2w el ¥ it & R e fen T e
(3] R W Y ¥ fi el few an ik
{4) m:.mmﬁﬁﬁﬂﬁmmrﬁmmam

28, Teacher’s behaviour ought to be _
(1) administrative (2) instructive (3) idealistic {4} directive

(1) wrmfs (2 v 3) mfm (4) FEynas

26. Murathon is to race as hibernation is to
(1) winter (2) bear (@) dream (4) alecp
2 M m o frk 4D @ eBREem

() Moww & A} 2) s X R X (3) = & RAL & {4 Fag & Rt 3

7. Artist js to peimging ss MP is to
(1) attorney (2 law (3) politician

(196} : 9
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al.

(135)

¥} women i & Al R 4a @ wede
(1) et ¥ et (2) w4 ® RA R
(3) vy & R R (4) Frafes & vt &

Which is the number that comes next in the following sequence?

et A W AT WAy
4, h 12 14, 28 30, (... |

(1) 32 {2) 60 (3) 62 4) &4

Forecast : Future : : Regret : ?

(1) Present (2) Atone (3) Past (4) Sin
qfirammht . wfiy ;. gETEm ;7
(1} =R (2) wafrem (3) & (4)

Motorcycle is related to Petrol in the same way as Lifc is related to
(1) Earth (2) Sun (3) Moon (4) Star
Aewrdiea B S T P A @ T v der wE
(1) woht @ (2) g A (3) W@ (4) mt &

‘ Section—B

-

“Bad money drives good money out of circulation” was advocated by
(1 Marshall = (2) Greaham (3] Keynes (4] Friedman
Vet g el g W Wee & am B 26 2, e e sRaRa femmoaie
(1} "= (2) Fwm (3) Fr= (4) shrehs

10
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¥2. Process of credit creation has the effect of
(1) increasing the real wealth of the country
{2} raining thc real national income
{3} increasing the supply ¢of money
5] dmhg.thc outstanding debts

g B v w1 avm B}
(1} 2w wwafies Tl B g (2) wwafis ot 3w o 3 =
(3) 33 & 9 F 3 = (4) wERT W W WA aA

33. Which of the following is not a feature of underdeveloped economy?

{1) High rate of capital formation (2) Population explosion

{3) Predominance of agriculture - (4} Backward outlook of people

Ao & A W3-W seafele 30 @ e T 87

(1) $aft Fefor @ St (2) wren AR

(%) B A e | (4) Wit W R gt
@Cﬂnmofmnﬁonhmchem;ivmhy

(1) Findlay Shirras (2) Adam Smith

(3] Alfred Marahall - {4) J. M. Keynes

= & fan R e R 3 -

1Y e e 2 WA W gu
@ weds e g @ o wo

1138) 11
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35.

38,

'World Environment Day' is celebrated on
{1} June 5 ° {2) October 3 {3) March 1 (4] December 22
‘Riva e Raw’ wwmn own R

1) 5[ W (2) 3 IR R (3} 1o B 4 22 foew w

Who of the following is a social contractualiat thinker?

(1} Monteaquicu (2] J. 5 Mil (3} Locke i4] T. H. Green
Preaffies # & ¥ wrafis avdhmad e 7 |

{1) TRER (2) o wWo i@ (3) @m 4] o = WH
Which one of the following is not a festure of Federal form of Government?
(1) Dual Government (2) Division of Powers .

(3] Written Constitution . (4} Parliamentary Sovereignty
facfofrr & 3 ¥ we afia 22 @ TR & i T8 27

i1} 2ed wown (2 s W R (3) fafm AR (@) wwdm s
Which of the following was a member of Swaraj Party?

(1} Motilal Nchru {2) Jawaharlal Nehru

(3} Ballabh Bhai Patel (4] Mahatma Gandhi

frfofm & 9 o= o of % o wom 47 _
(1) wrfea Iwe (2) e AwE (3) TP W (4] wen nid

39. Who was the Chairman of the Constituent Assembly of India?

(135)

(1) Dr. B. R. Ambedkar {2) Dr. B. N. Rao
(3] Dr. Rajendra Prasad " {4) Dr. K. M. Munshi
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wRn  HRAEE e % oy Wy A7

(1} Wt Mo IRe kTR (2) o WMo wAo TH

{3 We THR WA ‘ : {4} 'I‘l#iinmow
40. The Fundamental Duties were added in the Indian Constitution by
' {1} .42nd Amendment (2) 44th Amendment

{3 25th Amendment (4) 17th Amendment

R S e e e T |
(1) 424 ¥R TU () 448 R TR (3) 25% ww w0 (4} 174 WY o

9'ﬁﬂm.ﬁmhwbﬁldﬁtﬂm.‘m“ﬂtﬁl?

o My @) Gryen @ Kant @) Hegel

Yo an ofes T, v b w v e 47

(1) fem 2 ™ 3) W (4) Wi
4-;l. What is the date of the commencement of the Indian Constitution?

{1}- 17th November, 1949 (3) 26th November; 1949

{3} 26th Januery, 1950 (4) 15th August, 1950

wefin iR & B B W ol wm 7
(1} 17 R, 1049 (2) 26 TR, 1949
{3) 26 ¥, 1950 : (4) 15 *wa, 1950
43. Who cortifies & Moncy Bill?
() Opuisie sty Lok '‘Saiha (2) Pinance Bocretary
- M“u (4) Law Mimiaag# L

(3} . R ?JW
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mﬂﬂwﬁaﬁmﬁam!?

{1] AT W sy 2) fw whm
(@) Fm wh (@) wra/Rf o
44, Which anc of the fnnmngmmmudammummmcnmhkufﬂmlndm
Conatitution? '
{11 Republic (2) Secular (3) Socialist (4] Pederal
Peafefen # & fomwm B wnda dhem @ v § o 27
(1) T ' 2) wifrds (3 mn!r (4) wdfig

45. Who appointa the Governor of a State in India?

(1) Prime: Minister (2) Chief Minister
(3} President (4) Union Couicil of Ministers
TN vemE R PR # W b
(1) warord ' | (2) gEmh.
R L , (4) wfra wfiaRey
46. | Production function’ of busincas ia related to
() place utility (2) time utility
{3) possession utility (4) form utility
RE F ‘T vl et § '
(1) v i 2 . (2) W e R
@) =S I & (4) * TP }

(135) 14
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The characteristica of solc proprietorship do not include

{1} ease in formation (2} one-man control

{3 artificial person (4) unlimited liability

el R © el O ofifen off &
{1) Rafw § g (2) ww P © (3) WM s (4] whbm ofEa

lllul:ofuquitjf!hlruil_lmn[

(1} abort-term finance

{3} medivm-term finance

{3} long-terod finance

i4) Both medium- and shert-term finance

o AW o e o WMo

(1) wenly fw w g (2) ity e
[3) Oaiufy fm Wt (4) oy 3 sty frn 2 W

Wental remluﬁun’_ in related to

(1} scientific management (2) business combination
{3) specialisation {4) simplification |
‘wrlts i, e &

t ilﬁ'l e 3 (2) wwmnfes Wi @

 m ey ) s -

138)

15 PTOY
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F0. Planning is not poasaible without

{1) organising (2) sclecting  (3) forecasting  (4) controlling

Pt aom Tt & fen _

{1] ¥ & (2) W= & (3) iR % (4) Priwn ¥
51. Organisation does not include |

{1) division of work (2) source of authority

(3) group of individuals (4) budget

Wt & whfw T

(1) == Frorm (2} sfimr % W1 "(3) uihii'nm i4) e
353. The concept of ﬁmcﬁ_unnl organisation was propounded by

(1) F. W. Taylor {2) Herbert Siman
(3} Chester 1. Bernard ‘ (4) George R. Terry
, B dge 8 waaron R ®@ of
(1) we W Yon gw 2 W aem T
(3) ¥y afe wAtd g (4) W awe 2 Zr

B3. The Indian Contract Act came into existence in
e afg aftfan ficn o afee #§ am;

() 1972 (2) 1956 (3 1947 (4) 1872
54. An agreement with a mi:mr-i:

(1) void (2} vakid . (3) voidable (4) illegal
§ & 1.] 16
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TR % T fen T sew B d
{1 b | @ (3) =bd (4) ahg

88. The number of parties in a bill of exchange is -
e e ¥ sl B e B &

{1 3 (2} 4 3 5 (4 6

56. Vitamin D is needed by the body to

(1) digest protein - ~ {2) abeorb amino acids

(2) absord calcium (4) make collagen

wk ¥ fiofa D AR & A s @ &

1) 8w WA _. 2) = T W A

(3) ¥ & sriom ' (4) wdw Buiw
BT. Apﬂlﬂﬂmaﬁict'vegehimdiﬁfilmtﬁkdymbmed;ﬁdmtmfw

W B, (2) Folic acid (3) Ascorbic acid (4] By

TR W Wl & e 3 Ao P % B @ e e B 8

1) By | (2) wftw s (3) wwfi% 3w (4) B,
QMhmmammﬁmm.mm?
p/tlliﬂmxpcrdar (@) 30 mg per day

(3) 40 mg per day {4 38 mg per day

(138) = : m&j
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61,

(13E)

miah witen & fam e = W afwmfa oo o 7

{1} 20 fomo iR | (2) 30 fiome iR
(3) 40 fromo R (4) 38 Roite WARS

A severe protein deficiency in children causes

{1] Rickets (2] Kwashiorkor (3) Scurvy
w=t F #dR 93 Apm A Refifm 01 @ w A

(1) ez (2) Wit (3) el
The functional unit of the kidney is the

() tubule  (2) glomerulis (3 nephroa
TR @ wewit vt ¢ |

(1) @ (2) v (3) W

Name given to the production of cultivated ailk is

(1) agricuiture {2} ha-rliculh:re (3) floriculture
T R W Pefafea sm Ra na ¢

(1) fwew (2) wireat (3) wetbwrm
Ratio of warp yamns to filling yarns in a fabric is called
(1) thread count (2) cloth count {3}  balance

s we W R e} aun ke 2

(1) 9% wa= (2} = w7 i3) %dm

18

{4}_ Marasmun

{4} frrom

{4} ureter

{4) X

(4} sericulture

(4) RiwPw

(4] Fam count

4 wf w3z
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Denier range suitable for clothing fibre includea
(1} 15 to 24 2) 1to? (3) 20 to 22 {4} 7 to 14
TR T W % R vge e Tx

(1)- 15 & 24 2) 1&7 (3) 209 22 [4) 7@ 14

Birth defects or abnormalities are called

(1} congenital defects (2) intranatal defects
{3) neonatal defects (4) labour defects
ﬂﬂﬂﬁlﬂﬁmmmmt |
(1) e few 'mﬁﬁzaﬁm

(3) Ty fam 5 (4) werfEia fwn

The term used for children, who have reading difficulties, is

(1) phobia (2) autism - (3} depression (4) dyslcxia
wt R w33 & R gt & & R e ot R

(1) wfe (2 wfEw(3) R (4) TR

The Firat Buddhiat Council beld after the Nirvana of Lord Buddha waa presided over by
(1) Anand : | (2) Upali
{3 Mshalmesapa ' (4) Moggaliputta Tissa

f-wui“imuﬁrﬁmmﬁ:mﬂmmﬂm

(n = () Iofn (@) w——r ”*’1
19 | E
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67. Who built the world famous stupas of Sanchi?

(1) Ashoka (2) Chandragupta Maurya

(3) Bindusara (4) Ajatshatru

w=ft % frefiem |d = ot Rl fn oy

(1) swm (2) “Fm A @3 fagErn (4) swmamy

68, Who was the founder of the Vikramaila Hahaviha_:ra?

(1) lcumargup;m (2) Harsha (3)' Skandagupta (4) Dharmapals

faaiten mofiem =1 dagE 9 W , |

(1} Fwwmw (2) wi - (3) wTm {4) oy
Whnamongﬂ:cfollowmgfmﬁmtraveﬂmﬁn’tedlndinduﬁngthc?th(!mturymP

(1) Alberuni {2) Fahien (3 [-taing {4] Suleman

Fefofm 3 3 o Pt o 3 747 w8 % 7ox  wen yeww fon?

(1) st (2) wiiR (3) wRin (4) gwm

(1) the Cholas (2) the Chalukyas (3) the Pallavas (4] the Pratiharas
T # aftensll W sw w2 W fqw fwmn mn

(D), == % we (2) "yt % W (3) ¥ @ {419ﬁ‘rmﬁi:m

71. Which among the following Mughal rulers donated land for the construiction of Golden
Temple at Amritaarp '

(1) Aurangzeb (2) Shahjahan (3} Jahangir (4) Akbar

[135) 20
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Rt # 3 R e v 3 e § ael ARy & fiefo & g qfy e A2
(1) +horda (2) et (3) iR . {4) vEm

T2. The famous Kohinoor' was presented to Shahjahan by

(1) Ased Khan B (2) Mir.Jumla

(3) Muhammad Amin {4) Sadullsh Khan

wead W ¥ wiaC fR z fen ot

{1} s of (2) R gwen (3) o i (4) ;rrsaruT

T3. Where did the Santhal Revolt (1853-57) take place?

(1) Chhota Nagpur (2) Maiwa

(3} Pune _ {4) Tripura

wwe iy (1853-57) Ak v W gan W7

(1) W (2) e 3) ™ (4 Ry
74. The founder of the First Qirls’ Schml in Pune was

{1 M. G. Ranade {2) Savitri Bai Phule |

(3) Pandita Rama Bai . (4} Raja Ram Mohan Ray

™ # ww = yremen B ween A B @y
(1) we Mo T (2) whel wf g@  (3) vfem oo oW {4) TE T TN

78, Ih which Session of the Congress there was a aplit between moderates and extremists?

(1) Bombmy @ Calcwtta {3} Surat {4} Ahmedabnd '

(338} g | 21 I_p.r.a,i
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Fw & fen afdem § o ol o el ¥ e fee gy
(1) wtek {2) wwwm (3) @ (4) Sy
76.° The pre-historic aite well-known for the rock painting is

(1) Langhanaj {2) Birbhanpur {3) Bhimbetaka [4} Nagarjunikonda
o fowt & R vk shfvefies qoee W m R

(1) == {2) WA (3) iz {4} . TR
77. Which Mandala of the Rigveda refers to origin of Varmnas?

(1} 7th (2} Bth 3 oth 4 10th

A & fiow mgm # aofl f sy it &7

(1] 74 (2 8 @) & 4) 104
78. Most of the Mauryan edicts are inscribed on

(1) stone " {2) copper plates

(3) papyrus ' (4) clay lablets

st fr7 du sifen §

(1) Wt % (2) wwEt W

(3) ot (4) fift % ufgel
79. Buddha was born in

{1) Sekya family (2) Malla family

(3} Vajji family (4) None of these

{135} a9



1.

(138)

14U/95/3 Set No. 3

Raw? |

(1) v g & (@ =g Fad

@) o - @ " A

Kovalan is the hero of the |

(1) Manimekalai (3) Silappadikaram

{3) Jivakachintamani |4]Pu.rI;|nmI

wwr s f |

() Wik ® (@) Rewimm ¥

) e i & @) Fom %
m-ﬂwnaw“nmuﬁium.mmxum-mue?
(1) Bithur (2} Kaushambi (3) Mathura [4) Kampilya
SR ECER BRI

(n fem (2) Wl § (3) wwu F (4) wil= &

Who is the suthor of the Raghuvadsam?

-

(1) Bhisa (2} Adwaghosa  (3) Kalkidaes (4) Bharavi
AR & s we §? |

(1) ww (2) ey (3) Wt (4) WREr
Buddha performed the Dharma-Chalkra Pravartan at

(1) Bodh Gepa (B Samath (3} Sravast {4} Rajgriha

23
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< 7 wiaw yadq fien
(1) o ¥ {2) am § (@) wwh A (e vwx d

84, Inmipl:im;n of whose three of the following rulers are inscribed at Allahabad Prillar
o (1) Ashoka, Samudragupta and Akbar

(2) Chandragiupta Maurya, Ashoka and Jahangir

(3} Ashoka, S3amudragupta and Jahangir

(4} Ashoka, Iiihndﬂgupta and Jahangir

AR W W Refie ¥ @ S e wee & 9w sife b7

(1) i, sgzqm ww s (2) w9, smitm awr aEiR
(3) %, WA T Wi (4) =wivs, TEW Yo W
85. Who had composed the Aiholc Inacription? -
(1) Harisen (2) Ravikirti (3) Vatsabhatti ~ (4) Benabhatta
R dw & wn Bt @ @7 |
() wfidw @ e (3) wewh (4) Worg
86. The largest rice producing State of India is_
(1) Uttar Pradesh (2) West Bengal
{3) Andhra Pradesh (4) Tamil Nady

mﬂmmmwmmt

(1) T wR2w (2) Rm W {3) Iwew (4) aRmeng

{135 24
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"/I: Prime Mcridi_an is

(ar 0 langitude ‘ (2) 90° E longitude

(3) 90° W longitude (4) 180° longitude

e aEre §

1) 0* = (@) 90° §o WWRR (3} 90° W MR  (4) 180° duER
8. Hu-mherd'pu:ons expressed per unit area of agricultural land is known aa

(1) arithmetic density ' (2) economic density

@) agricultural density . (4) physiological density

B vk FR O & wd § we e W ww oW A ;

(1) wifew W (2) anfifs e (3} wik T 4} wiF ==

8%9. Gurumahisani and Sulaipat in India are famous for production of

(1] manganese {2) bauxite .[3] iron . (4} copper
v # et @ gom shg 4

{1) Hehe 3w ¥ P : (2) wiemg A & fag

(3) e s & fag (4) e s ¥ fimy

90. The habitat of Kirghiz tribe-is
{1} Central Axia ; {2) East Africa
ﬂmm _ : ' {4} Arabian Desert
-, Ve el w P 37 8 .
i wedm @ W sAm @ S a

(138) 25 ) B Y
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21.

93.

53.

o4,

95,

(136)

*

‘Earth Day' is celebrated on

{1 lith July [‘2] S5th June (3) 22nd March
‘gedt wm’ wArn aRn &
(1) 11 & N (2) 59 * (3} 22 o W

The temperate grasalands of Argentina is known as

(1} Steppes (2) Prairies {3) Pampas.
ﬁﬁﬁﬁmﬁmm@ﬂfmmﬁmmt?
(1) w=dt (2) =d (3) T

Which one of the following is warm and dry local wind?

{1) Bora {2) Mistral {3) Blizzard
B 3 A ™ s e A7
(1] #a @ firg= (3) R

Lapies’ are erosional landforms produced by
(1) proundwater  (2) river (3) wind

Ufiw’ s weesw BT #a }

(1) g wm g (2) 9@ W (3) R T

{4} 22nd April
(4) 22 wha u?rl
(4 Downs

(4 ===

{4) Chinaok
(4) R

(41 glacier

{4) fwsg T

Who had propounded the Binary Star Hypothesis' regarding the origin of Earth?

{1} Laplace {2) Ruasel (3] Chamberlain
7 A ol ¥ wafRn Yanw dRween w1 RO fd fen g

(1) =™ () = (3) HAmRs

26

(4] James Jeans
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Marginal utility is -

{1) addition to total utility

(2} total utility’ minua average utility

3} total utility divided by the number of units consumed
[4} total utility plus average utility ‘

v v 4

(1) %= swAfien & g9f2

(Y T I ww hew swfa

(3 W P ww Iowr B el $ den

RUR Lk LG R

3

@

(138)

When the demmhd curve is horizontally parallel, it ashowa

(1) perfectly elastic dema:nd_ {2) highly elastic demand
(3} unit elasticity of demand . (4) highly inelastic demand
mmmﬁﬁﬂm#mm&a’fﬂﬁmt

(1) i dragn Atn (2) it waem wtn

(3} v F wm i W= ;4;mmqh

When the price of a normal good falls, more of it ia purchased because of

(1) positive substitution effect (2) positive income effect
(3) either (1) or (2) _ (4) Both (1) and {2)
n_mmqﬂﬂmﬁw%,ﬂ swht wftes wen @ i
:lli muﬁn‘mmtm (2] wwTw A AW &
e S (4) (1) ™™ (2) ¥ wwn

27
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Marginal cost curve cuts the average cost curve =
(1) to the Jeft of ita lowest point {2) to the n'gﬁt of its lowest paint

{3) at its lowest point {4) does not .cut at all.
drr awa @5 Ea 9% W W R

() 3o% @aw g & ¥l =% _ (2) 3% =Fom g % ol T
(3) = fg m () e o wem

Consumers are likely to get .a variety of products under
(1) monopoly

(2) monopolistic competition

i3) oligopoly (4) perfect competition
It B fafm ywr # agl] v A § ] -
(1) vwfteer % smia - (2) e ik & v
B wFnitR & swwla 4 1 P ¥ owwfa

* Wk
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i1.

12.

13.

14.

A g e & 10 e & s @ Ym d & owww § o gqr oAg € ot F oo
ga T 21 gfen degs TR 9R W e ga am Fa-faE # det wel wem f
El gfew gm o w o

vien va A forEer WEw THw-vF & afafe foen wmoumn w6t wen wea wy F 3 Rl

I-T3 ST A e T # @ 7 A 9 ok 7 ot Agw w0 qEo Im-v7 Tl fiw arm e TOe-
9 T qewEd e ST

N SYFEE qU IH-VT F OFGE 54T RO-y8 W o4R A fuifm wwm w ferd

T F 999 @ W W A avn apeas fuifm we w fod vm A9 R g9 B o W= #
wel-w! sy B @l w-yfew @ wEie tm @ w owew It et g e

o THe ¥Me WF W AFHi HEW, G-I wem & 2 wen (7R w6 ) aw -y m
FTFRia He M Flo wHe MRe w do w) wiafpdt ¥ wfeims W soi T %

e afafydl o Fr it ofmdw w fiue g w9 9fed ammen o ww sEfET WA W owE
HE AT

w1 ffe A ¥EE A & AR 3T T R M ¥ weE nw & d5Rvs 3w # R aet aar
v¥ & 7 e & g fd T v @ so-R 4w W R R AR & apew 3 R
v i

TUE U OF I % A el TR R 99 W MY W uw ¥ Afuw g9 W My Y | uw
U W W W W FE IW TET A SR

wr 4 fF 0% aR W gW sifem Im ween T W wwar %1 Afz A9 fed w1 gor EF A o
W wafaw ifE & o frd ol g N oaet 9 2 8 v woge o fF smEn

T W % e w-gfeE & qEys % oo A g Aw sifiw g W wem @t
e & I FEE FeqTedNe FH-F whw wam F wr w2
wie T OB R wEe Ta wed @ a9 #oammir A e

wﬁaﬂéawﬂqﬁ&nﬁmﬁﬁmwﬁﬂmmt_?ﬁaﬁmmﬁMﬁ:mﬁﬁ,-mﬂ
TR |



